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1. The total duration of the examination is 3 hours. The question paper contains two

parts 0 Part A and Part B. The duration of Part A i2 hours and 30 minutes . Part B
will begin after Part A ends. Part A is further divided into three sections, 1, 2 and 3.
All sections are compulsory. Questions in each section are of different types. There
are a total of 68 questions carrying a total of 240 marks. Questions of Part A will

appear on the computer. Answers to Part A have to be entered in the computer .

Part B is also compulsory and contains 1 drawing question of 60 marks.

2. Marking scheme of Part A is as follows:

Number Marks for Marks for Marks for Total
. Type of each
Section . of correct wrong . marks for
questions . question not .
guestions answer answer the section
attempted
NAT 18 4 0 0 72
Partial
MS 18 . -1 0 72
Q Marking
MCQ 32 3 To. 71 0 96
Total 68 240

3. Section 1 (72 Marks) of Part A contains a total of 18 Numerical Answer Type

(NAT) questions. For each question, the answer is areal number with decimal
digits upto two decimal places that needs to be entered using the virtual
keyboard on the monitor. No choices will be shown for these questions. There is
NO NEGATIVE marking for this section. Questions from 1 to 18 belong to this
section.

. Section 2 (72 Marks) of Part A contains a total of 18 Multiple Select Questions
(MSQ). Each question may haveone or more than one correct choice(s) out of
the four given. The following is the marking scheme:

Full Marks : +4 If only (all) the correct option(s) is(are) chosen and
NONE of the incorrect options is chosen.

Partial Marks : + 3 If all the four options are correct but ONLY three
options are chosenand NONE of the incorrect options is chosen.

Partial Marks : + 2  If three or more options are correct but ONLY two
options are chosen, both of which are correct and NONE of thencorrect
options is chosen.

Partial Marks : +1  If two or more options are correct but ONLY one option
is chosen and it is the correct option and NONE of the incorrect options is
chosen.

Zero Marks . 0 If NONE of the options is chosen (i.ethe question is
unanswered);

Negative Marks: -1 In all other cases.
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Questions from 19 to 36 belong to this section.

5. Section 3 (96 Marks) of Part A contains a total of 32 Multiple Choice Questions
(MCQ). Each question has four choices out of which ONLY ONEIis the correct
answer. There is NEGATIVE marking for this section. Questions from 37 to 68 belong
to this section.

6. Part B (60 Marks) contains one drawing question. There is NO NEGATIVE marking
for this section. Answers toPart B have to be given in the answer book provided
by the invigilator. Question 69 belongs to this section.

7. Calculators, charts, graphsheets, mathematical tables, mobile phone, smart
watches and/or other electronic gadgets are NOT allowed in the examination hall.

8. Scribble pad/blank sheets of paper will be provided for rough work.
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PART A

Section 1: Numerical Answer Type (NAT)
guestions

Section 1(72 Marks) of Part A contains a total of 18 Numerical Answer Type
(NAT) questions. For each question, the answer is a real number that needs to be
entered using the virtual keyboard on the monitor. No choices will be shown for
these questions. There iNO NEGATIVE marking for this section. Each correct
answer will be awarded4 marks. Questionsthat are not attempted or answered
incorrectly will be given zero mark. Questions from 1 tol18 belong to this section.

Q.01 How many times does the shape sequence (shown on the top) appear in the grid
below? The sequence may appear topto-bottom, bottom -to-top, left-to-right, right -to-left
or at an angle.

OV HGS vV
*» > He ee
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Q.02 The bold lines correspond to four different paths P, Q, R and S. What is the length of
the longest path? The length of each side of the square grids is 7 units. Use— asthe value
for “.

}////Q; Y
: \C
n

Q.03 What is the maximum number of starsthat can be packed inside the blue colour
boundary including the one that is shown in the image below? The stars can be scaled but
should not overlap. At least 4 points of every star should touch the blue colour boundary .

o4
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Q.04 A dice throw can result in the numbers 2,3,5 or 6. Every 4th throw will result in 3.
What is the minimum number of times the dice has to be thrown for the pawn to move from
zero to reach exactly at100?

100 | 99|98 | 97 | 96 | 95 | 94| 93 | 92,| 91
81 |IBA| 83| 84|85 86| 87| 88 | |edl| 90
so | 79 | &l 77176 |.75| 74| 73 | PA| 71
61 | 62|63 | 64|65 |led | 67| 68 | BA| 70
L\
6@& 505857 56 |4 54| 53| BA| 51
N2 | 43 | 24 | a5 |Fd | a2\ 48 | kdl| 50
QN
40 38 &}7 36 34 \@ 3 | 39
21 @\ 24 | 25 || 27| 28 @\ 30
20 19%8 17 116 |4 | 14 | 13 1\2<\>}1
\

ol 1| 203|455 |lel] 7| 8] 9110

-
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Q.05 Count the number of human figures in the picture.

Q.06 In the figure given below, the area of the largest regular hexagon is 720 units. What is
the area of the shaded portion?

P
Lo
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Q.07 A tetrahedron of side 18 units and a cone having base diameter of 10 units are
cutting through a sphere as shown. Count the total number of surfaces in the resultant
sphere.

Sphere

Q.08 Tim cycled from his house to his friend J o h hooise and then onto his ( T i ©ohaol)

without stoppi ng. The average speed for his entire journey was 26 km/hr. The distance from

J o h hodise to T i nsdheol is 0.3 times the distance fromT i nmhduwsetoJ ohnds. house

Ti mds spookends f hoiths eséhwa was twicethatof Ti nmspeed fromTi md s

housetoJ ohhdase. What was Ti mdo heodsertoalgi ensobspléened fr om
km/hr?

Q.09 Identify the total number of differences in the images shown below .
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Q.10 Count the number of cats in the given image.

Q.11 Two trains of unequal length have speeds of 60 and 50 km/hr. When they
travel in opposite direction s in straight line tracks, they take 9 seconds to completely
cross each other. When they travel in the same direction, a person in the faster train
sees the slower train for 18 seconds. For how much time (in seconds) would a person
in the slower train see the faster train when the trains travel in the same direction?
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Q.12 The image shows the profile of the blade which is designed to turn a wooden block,
rotating about the axis PQ. Calculate the volume of the turned wooden block between P and
Q. Consider the value of “ to be 22/7.

Q.13 A blue colour liquid is used completely to make a star shaped jelly using the mould
shown on the right. What is the value of 6 Xnécm? Ignore the wall thickness of the mould
and consider the value of “ to be 22/7.

d B

6.6 cm
(3.8v3)

N
AL

12cm
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11 13 14 17

Q.15 Shown below are four sides of a rectangular dice. If 3 such dice are thrown together,
what is the probability of getting a total sum of 4? Consider the value of the blank side to be
zero.

Q.16 How many distinct types of characters appear in the figure given below?

© ®an C B &K E
Et & & o
& & o &
o &k &E &
a e ¢
& o & &
E &

oy
6
o & 6 &~ & 6
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Q.17 Objects made out of cardboard are shown in the image below. Count the number of
objects shown as open containers in thisimage.
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Q.18 A triangular pyramid with equal sides can be flipped on its edges without slipping or
sliding as shown on the left. What is the minimum number of flips needed for the pyramid to
reach the finishing line if the starting position is as shown on the right?

Finish Line

SEL

Starting Line
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Section

2: Multiple Select Questions (MSQ)

Section 2 (72 Marks) of Part A contains a total of 18 Multiple Select
Questions (MSQ) . Each guestion may haveone or more than one correct
choice(s) out of the four given. The following is the marking scheme:

Full Marks . +4 If only (all) the correct option(s) is(are) chosen and
NONE of the incorrect optionsis chosen

Partial Marks : + 3 If all the four options are correct but ONLY three
options are chosen and NONE of the incorrect optiong chosen

Partial Marks : +2 If three or more options are correct but ONLY two
options are chosen, both of which are corret and NONE of the incorrect

options is chosen.

Partial Marks : +1 If two or more options are correct but ONLY one
option is chosen and it isthe correct option and NONE of the incorrect
options is chosen.

Zero Marks : 0 If NONE of the options is chosen (i.e., the question
is unanswered);

Negative Marks: -1 In all other cases.

Questions from 19 to 36 belong to this section.
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Q.19 Shown in the top row are 4 pieces of building blocks. Which of the option (s) is/are
made using all four pieces?

‘-
=
_ AN

Q.20 A printer wishes to print four colours , Crimson, Pink, Brown, and Indigqg using CMYK
[Cyan, Magenta, Yellow and Key (black)]nks. The printer uses the CMYK combinations
shown below (in % of each ink)to produce the colours on the right. Which combination(s)
will result in the correct colour(s)?

_______________________________

. C = 05% §
LY = 70% 5
z

Crimson

_______________________________
_______________________________

§C=5@%
© Y = 100% i
z

Brown

_______________________________

UCEED 2023 Pagel5of 42



Q.21

UCEED 2023 Pagel6 of 42



